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Word ProblemsWord Problems

1 ) Melanie has 2 blue marbles. Mary has 9 times more blue marbles

than Melanie. How many blue marbles does Mary have ? _____________

2 ) There are 9 erasers and 3 pencils in the drawer. Sam placed 

6 more erasers in the drawer. How many erasers are now there in total ? _____________

3 ) Sally grew 5 cantelopes. Jason grew 9 cantelopes. How many

cantelopes did they grow in all ? _____________

4 ) Tom bought 210 crayons that came in packs of 15. 
How many packs of crayons did Tom buy? _____________

5 ) Mary picked 4 oranges and Joan picked 7 oranges from a tree. 

Nancy picked 8 limes from a tree. How many total oranges were picked ? _____________

6 ) Joan, Mary, Benny, and Melanie each have 6 Pokemon cards. Mary

has 8 baseball cards. How many Pokemon cards do they have in all ? _____________

7 ) There are 3 oak trees and 8 dogwood trees currently in the park.

Park workers had to cut down 2 oak trees that were damaged.

How many oak trees will be in the park when the workers are finished ? _____________

8 ) Alyssa has saved 1800 cents from selling lemonade. 
How many dollars does Alyssa have? _____________

9 ) Sandy picked 6 limes from the orchard, and gave 4 limes  to 

Nancy. How many limes does Sandy have now ? _____________

10 ) There are 1080 students at a school, and 
60 of them are boys. If each classroom holds
30 students, how many classrooms are needed at the school? _____________
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1 ) Melanie has 2 blue marbles. Mary has 9 times more blue marbles

than Melanie. How many blue marbles does Mary have ? 18 blue marbles_____________

2 ) There are 9 erasers and 3 pencils in the drawer. Sam placed 

6 more erasers in the drawer. How many erasers are now there in total ? 15 erasers_____________

3 ) Sally grew 5 cantelopes. Jason grew 9 cantelopes. How many

cantelopes did they grow in all ? 14 cantelopes_____________

4 ) Tom bought 210 crayons that came in packs of 15. 
How many packs of crayons did Tom buy?

14 packs
_____________

5 ) Mary picked 4 oranges and Joan picked 7 oranges from a tree. 

Nancy picked 8 limes from a tree. How many total oranges were picked ? 11 oranges_____________

6 ) Joan, Mary, Benny, and Melanie each have 6 Pokemon cards. Mary

has 8 baseball cards. How many Pokemon cards do they have in all ? 24 Pokemon cards_____________

7 ) There are 3 oak trees and 8 dogwood trees currently in the park.

Park workers had to cut down 2 oak trees that were damaged.

How many oak trees will be in the park when the workers are finished ? 1 oak trees_____________

8 ) Alyssa has saved 1800 cents from selling lemonade. 
How many dollars does Alyssa have?

18 dollars
_____________

9 ) Sandy picked 6 limes from the orchard, and gave 4 limes  to 

Nancy. How many limes does Sandy have now ? 2 limes_____________

10 ) There are 1080 students at a school, and 
60 of them are boys. If each classroom holds
30 students, how many classrooms are needed at the school?

36 classrooms
_____________




